i UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

N [ﬂ) Given. cirewik ghover a
Sk — shunk ferdincl or RIRGEC
ok feadback .

b@@w s s

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.
( Specimen Answer ' Booklet - For Practice Purpose Only)

co Aontoaw ; —
(=)

F_L-.L = YA
5 T [ sgteg th %;Ljéiz

5 I¢>i¥ﬁ“@§J = 4V -GN,
% I oY &
5 I)y= bY-GY:]aq
GtG +s GG R,
= [qV[*C,_]

G
R[S+ R

*T-a)u wvenze /Qﬂ%’hu‘ -—l—mﬁ,m,lz_

R

T e“"?ﬂ by Tt

e

‘%J R At

Page

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

- KT P

. — 2¢eq7)R L
-2 ﬁi L& j}D
lm whoe K= GV =G\,
_ - %C"‘L' 4+CL
Thus 2uirap ok Conthe b«d Ruo

w%%w%ﬁ

oo

&1 () ) W= 2con (wb-3y)4s
Given 720 Pr=25 €=5%
We.  kusw thak for 2 e divona

Jio
2 Eg;/z.BS xl@
A

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)
2 €.- 230 G3% 2. i)

> g [ i
L!;f’ 174 84 v/mj

YL, 228.43 n_
Thws \E —e= 435 L Ae,\,.é-ersxmg{;—M

&'\@)l SMee We meed Cownal -

X‘Q"’V*Q“"—C’f 2) EOCVD{E-{'&L
<pm'w\/ )2)> Z

NS )((Z),¥I+22’ o

3 2
| =224 42 T
g
z - 2+ 4 g
o Xy o WM;/%
% 712/
B, _ze e
= Z-1-1%) @-1t3)
Neowo &(275__ A 2
=z .= == p" S
z-1-Jy 2- 141 ]

Scanned with CamScanner


pankaj bajiya


| B p* Y
I S A W

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis
Content of the Question is more important than length. ‘ -

( Specimen Answer Booklet - For Praclice Purpose Only)
- [ = 102y JBry
A= (2-1-f). X) = 212) 1
= o= H‘)Zj ljgzj =X
B= (1) x—?/ . 2 By
2= I—I‘gj —zﬁgj s 24
> 2B ey By
Z—- = . 3 S -»
2] , z - 12 A 2-2*&)'
or K)o Py AR = Guiy
~ 21 l-'(l'/‘ﬁ_j)i1 2 I"(I—Bj)z—l

— N
\7‘69: 2 A () u)
B Page _—

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Queslion is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

QL (E)| e wigie Sy

Ve 1 ¥T5sL

Newo Vy = — L,,xﬁ@ ]M%w I

Wu |
‘719// II)“” IL-] -3@-}°A[
& 3 f
45 sz~—i,: 555 k6.3 A]

N, = 20xT ;:)Tm {Hé.g@
Np wo RO ol
Y w Bﬂs@-f
_Y@UJ\-Q«Q// \[‘,MzaL Lq-m. ZO% U’\ L_“

) = 3‘52[}%‘?%1

Page

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Queslion is more important than length.
Specimen Answer Booklet - For Practice Purpose Only)

§-5 [a) Considering dne Ahoreniniguiustict

Run
\ ]QL,
L

New Case 1:m Vo= (4 5)x4A
Case 20— Ng = Ry + 20)x 24
=) Rna-t'f

Q{l—tlo

2Ryt 10 = Ry 205 MJ

New Vo= (o 153t = [Gov |
Q) T wan )’G*W'Aﬁmu&fm)
\*M\V\?S’%BWN KL;Q-H;\

=12

(\) T o Ae,uw\j: = ﬁead
= éb’) | P

4 Rm E qxio -‘—'ﬁob\)

L\’)’i) Whan dlelivering 50 W )
S lek load b R X
a Vbl)tatﬂe/ \/)LHO
- R _ 2Goo R,
& Pe“""" @S—Cﬂo) ‘%'W

2 /36'6/6 /50'.5 R.F'LDR-#(S'D R/X:T'L

(R—rml’ Page

= 2

Scanned with CamScanner



{ | ‘\\ )
| Y
by _'.:‘ ‘\'.‘\' 4—‘

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

~gaRtee=e—=—R=

5 = B2t48

R¥- 52R+16D =0 = S5 C = 5o a2
Nevo total pouer Frone Dlonce ;—
e 2
(&9) _ Lo o (60)7 _
=201
lotS0 ¢ (042

Foroens Reddver el ':'O/Q'O_@—Gl = Sold
> Fewenr W%woﬁ/baw@x%

Zf: v \ep =32 33/)) _*‘_Z';_DDX L6 ;Pé_é'}%i

-—

@,5“0>J Neovo we kww Pk |
—Juﬁ: X(t’) XCOO")‘L\%

R e
> [ e. X (és) [X( —;(@): wﬂ

S I Y b Y('D) _
than 40 coale(®) € [Y(w) 1Y (o-19)]
SR |- @

Now B = =

58 = w1

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

Now 5"(&) = LL(erR) -2 60 +LEED
2 9@ Y(w) = L Lew —ij _2

b8

(LD) = TwL —D [Zceakw .—gl
WOk ﬁ;o T - cantend]
D Kl

L

o197 , cebém-’oﬁ)]

Euk tos (2540) = Lao(%-—e)g ¢oo(D=20) =16

" | —cos Lo - com o
?CC) ‘K’[ R o ?

Cwﬂo)"" @-—lo)z’

~——

__i@;) ?@»am)cw\a “Wontm chatzs Riak |
Har o ey O Ao/

B

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Praclice Purpose Only)
VRV ar

@5[‘01 '9‘“1 1\ 20\ L

L Vi

T-
2.5V low s
| DY 10k

Nevo u,x“vxa, v tual amw & othen

97> C“Mf Wﬂ@. e Enow 0ol

uinanle Asennt enken o /f Ferntnals .
Mﬁ%

At wede wnHe v«?Uca;?‘z, V5 wzvva KLy —
ol —zr=o— (D
s e a0 — (D)

% 9.5 _ 25V ioksL
2ok

Scanned with CamScanner



4‘\_\_ ']

H | E}}
Ul

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer B oklet FFor Praclice Purpose Only)

-— i e~

! %)= 3
2 _ZI— v = 27
%‘J “fo .é-r )V[ T8

V )(33 2 143

: _— . 28D
i E/; %\d 2 }rv1’1%0\1 (

12 | o e L, Bl-Ve g
[zt 20 -
e oL eoE i
15 P ae " 52 3
= | NSTIRRERY N)V; 5.23\/!
o

How 10 = 3T, 4 LfCIr -5) —

5t AL +J4 (T.-T) =0 —{E
1:w® oo s (34T T, =

Pow(D we ok Equ,JrC[r—Lt‘)l =0
3T, ‘_'_,Lj:r

Page ’L % l-f-l \J‘I @

)

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.
( Specimen Answer “Booklet - For Practice Purpose Only)

) Q—HU) I — )l[ Cft'f JJL,
) R [ak +L§z—_f;]>‘o_

T, = O /L 7
\ = ,Q;vr-ro.uaJ)A

o7 l’L\U:)—- 1. 185 wsaogé’rq"o)ﬁf/

5

e _ZL(HU)I, 2-22Y Jou)°

LLLQ 2224 @D(nowrsw)j

Scanned with CamScanner




UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

@.H(a)] Qiven 4 (n) - 2]@'0" ¢ (n) rx (n-L)
TA\L{,\/\ ft"—m»b(;wm —

WZ)[) -2 = w3 [I—Fzﬂ
> lezﬁ_: +z' =
X(= -t | =

New -ﬂm Mo comnal 3,2})(% ,—-.
Hi=z) = ? =
"’ |-

H:' ——’}'_—Zj cia LLO’\)

e e know by a1 et
u(n-1) = Ul . %‘ZTCuLn)J]

-—

Pj

> =7 § = wb) 5wy
mr'\hb’o:: w) +ul-) (

W) YNew HE = X(2)=
) o J & X(2)= 1z

ARCEEE .
Sy \< _ 'z_('z_ﬂ)
5 T(z-0*

Scanned with CamScanner




Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Conlent of the Question is more important than length,

( Specimen Answer Booklet - For Praclice Purpose Only)

3y P W <
&OW'\Y'LZZ&’ (z\) *

2y et by e,
& = o5 ™ e
MNow we ot Pk 9¢ nogn oL, =
e =P
4 xXa(t) —— 7. % (=)

Z o X a7l
=) = —= () untt)

5 60\) = (Mt uln) *“‘*C”ﬂ
Novo ~€¢r % (n) = 2Fy~lutn) v X(Z)-': , =
" |- 427
B "’G,;)u[jl)

2
? =) I | HHZ&I — = ZKZ-HD
1 = oirey &g

o d \i(_?:); Z 3| | = A E

Vo
il S 3
L= (=DM ] | =S5 = -2
R e e

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

(QZTO?)) For the C/iro,ult: W D& nodo

g/ ’OMA (// 15\/ VgE;O-’}V
P?l@\/ 35 \/E,\/ = &p

) I RE = LSD+) xIC,"_O_'.)QUDMA

3 R - _?X_M’_D.. -.,-I
e ISP ‘4(15—‘0/1

Nowo VC_Q'VE/B\} = VeJk&?,QQCwM
) \OMA)_( QC’-'-'/5V
&®=" Ec’gm-fljr

Nowo V’ck & 5 SyerkzEr

| B | M
i Qﬂl - g:HZL'
Nevw N, - IBE’A — 0% = Vg
15 &, — kxR % =5+0+4+
Rz"’Ez b8,

Scanned with CamScanner



Jn){hl
UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - fFor Practice Purpose Only)
. 5 - .
=) BX'D_‘;_/_’__'_%_ 7[&>6«63M5:_(
Kﬁ/ % q/ 1

}\lo»0 ’/;;7{ Lyal L Qr“ﬁﬂrde aau‘n e

Yo s r |

5@4(@) to= 2xxlo” mol 5 0 >% WO

’ xfo er\tfxl-rxxto e
% 72 I 5£.><|1J 45 jl
LY)/: 3. '}x\ol’ Z,__ j

Now  meddeny ane 2
E = B cos(ob-Pr) & ay V’/“"
Here 10 = 2xto’ fwl/ & [3 :&T; vl
F= 0,021 rmdjm |
9)/1—5{ = B2 wa(%'xloc-l: ——0,0'2.159 ('x: V/m;
a«veﬂ - 2xlo ] fas” 2”\:-[107(—

= () fyam |

Page

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

Ruk ), << U [ -

o, . = ~w &

B
% ‘{'Tnve)lj.vﬂ RYNY W ey e
= P -

¥ | B "=k Ceo(lKX\gt-[- o,oz)x)% V/M{
- \

Tor trams willed wave
T= ﬂ,,_ _ Q_K’L-‘-[—x!o'%ﬁf
AT 2o i
T = 2x15 G/jjs
9 E = nG'E K P’*:\IW
. rxlo;z'{x ,L‘-?&x)v

ot

= 15132 W

5 ‘iz ?—*‘5%&&»(2:\&0& n%\a

Plovd-eney -tRene vo Ao b( 1512 2 o

. -5y , ==
s f_E‘; >2><10 E e o 2mot |':'>(2>’).'x)az. \ym

Page

Scanned with CamScanner



Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

@‘:HOL)J Mow ,Cz‘&d,é/ Jz)-ala@_

z‘,a,j:a&&'\"aﬁm #m%xmﬁ

% 'L: lO —»lA
? LL[OP)“—- ‘ﬁ l'\/
§ vp)= &1 = &V

\Y[fpvw\a L[L}a"dc,e, Ao nain I —

kg | l);»m% KVL:—
3 0'155 ’°’ _ZTLY - 0.55 T(c)

+i - 2TL) =D
I() [—¢-0 554]-1- 1+%% 0

S () a=m 17, '3"?‘ 0-124%

q ol s (0-5¢49)

S(S—HQ) ~ E+ <tie

Now A= <1 = 2X0N T
(& t& 75

B= GHOTL)[ . 2x[18) _ |49

=g i =18 k53

Neowo l[s): LLﬂ A

S+IS

o LY = u,(ﬁ + L__ R
W - -J— =z [+1uq e““"j wlt) ]

Nowo V(&) = 0_’2'—3;1:[,9 %

= Pana

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

\/(g),_,J_ e L

25 S+1Q

2 V@) = _Z—Su&) ._ﬁ i ul .

f\/éjcﬁﬁ %5-[2-)4%‘8\%6]
)

E}f}(tﬂ

Y

\“25 = 0.95. 5 /2D X(2)
2 \r(z) I 1-0 qsz] = % ()

XE ~ Tom| — O
L OeCn); @5(.12“;"1*.375) w(’\)

e 2 Nl i

= 3 [ M uy

Nows 7(2) _LI:] @Nu’) %@@J

New UJ)\Ma @ 7—

s b il .
Y[z)“Q-o.qs)%}[ Ny -

Newo %CT Fnal vewe Aheoven;—
Yt = B D YG)

Scanne d with CamScanner




Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Praclice Purpose Only)
b DY) = O o LJ& (n) =0 [
=2> | Y
= . __j_—_,_ _Z
1) = %,— 2~ 0415 o - z-gJthe

M =A N T Z’/—z eJT/Z%z eﬁbj
Zj zZ-0.95 & - érfw)(Z 3 Jr/a)

- ’ » ZL ; ‘ ej /’O T—J'\/w .
R == —z(@f'w+e-J*7b

L T = w-chaLw.me

élvx,wc,
%‘ % (2— 2-0-15 l; 222 7 tas W, 'H:[

ib \f' 51) - Z an W, ’
Z Cz —H. ‘15) (ZZ—Q.ZLOD'*%"’)
Rz+C
Lok Z =
'\ﬁz) 2§ 0‘15* 207 ten 0, + |

= A[ 22aeswo+)+?>z PeD.95 +(z
= (e095
(‘i’g -s) CZ—- 27 tonls +)
Now A+ =0
— 2cosw, A — Ry0.QS +( = sme,
5 A —cx0.95 = >
> R=-h & c= A
D —2e>wW, At 0. a5A + ——pi = &ne,
d Al 2- zwowj 2 g

UY- A - Qﬂ’\,w B_’ S’lV\ LOO N

2'—2-c,ez>wo 2¢ !90_2_

Page

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Queslion is more important than length.

Specnmen Answer Booklet - For Praclice Purpose Only)

B3I3Q4944949

= S,
& 0 ‘?5 [ Q,zwg
) S’(2>_—,- S| L o 2153 S
z 2 -2, | 2-0-95 29’—- 27 tepW, 'H
D s, T | = (z=cete)
2
2/1- ~tew,) | 2-0.95 &= c»owarL“”)
< WO, , 5%%““*“%
| 2 ?-(93009 @ tonw,y +oin ]
Buk we Jmow fhat =(
- ¢9’>‘<9)
‘Z.T% o, nub)§ 25 2z, + ]

Es ‘Z,TE SmWymuln) = TS tdo

i 27.cep\0, +|

A Yl'Z) - Q‘V\.wo ‘- l4 ) Z=tn o,
Z " 2(l-eeoa)| Z0495 | 297 tonig, +]

a aﬁo —-zir:iwg{<,1€) U$ﬂw}ﬂuL &Muon,
= SN W, S W, ML — FmU, tRam|
| 87 e o [ e

«.___h__\rf.

K%bmzt%zszo

Pane
Scanned with CamScanner



{) '\ 4 W
Ll p U
Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis. (,31?,2?
Content of the Question is more important than length. Wil
( Specimen Answer Booklet - For Practice Purpose Only) marg
bcl I =
§.%(d)]
— e d 25
4 1007z
0-25x 15%
010 oy e 2 }~
N w BL(L '(AM / % \/ eI

Igo 50_&,1
% ?& O | LE = ZFMOXMD\}Z 5><I5'4.

- = ch-xvclo!'x_%xfo il

s g

T Fzsr'Z_,_ 56 N

r“: ;:_::::’O é)rt){

IL’) Z =Ll SL
P |\ - N | o
o H’:;L L?’/; _
£ IT% = ;/E— 5 [£ 02_

Scanned with CamScanner



UPSC

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis.
Content of the Question is more important than length.

( Specimen Answer Booklet - For Praclice Purpose Only)

@@({O} - Ja

Novo M&v‘g KV~ = |

19 ‘ |

% ~ JSL\ ¥ 0L, = 120 L1z’ =0
% ’:jIﬂT\.OT SN ¢ - /15 50
= =l

20 JEJQ—?-CJ'LO)IL 120 20" = 5
-8 ‘jBI«ﬁ ':J lOIc = 207%51)500
% 13" -10 8, + (10)T, = hojas =5
— 2 —lolb —JIDIL = 202},&51@0
oY [—d o o |[I,] [207echs’

-5 O -jo ;Ie Z | 20ty /iy
O -1bo —j\D L | 20?@2)‘&0'

211 ‘o o7 207.85 /30
763) Lb; O \O} 12 = m?r&S_Zng

-lo todLTe)  |20rer Jo

N |

]:‘\ -0.25 0-95 —6.25 '[___LSD !
a [ :l:b = 0.125 -=0.25 0'025 x .20? 85
Te. 0:125 —0-5 0-125 _I /__o -1

Scanned with CamScanner



WY ER O 7
@ E‘) ) \a‘v“\ ".\ | ;' (
d ) &

Answer Questions in NOT MORE THAN the Word Limit specified for each in the Parenthesis,
Content of the Question is more important than length.

( Specimen Answer Booklet - For Practice Purpose Only)

2 [Ia 20F.4% F”’”ﬁw“ﬂéwﬁo-&fﬁo"

- . ?

N - 0125 /=130 — p.25 ASD +0-25 /20
T 0 l25/AP — 0025/ + D125/ 72

0 L]
%D_:'l_%? ro ;Q5LB_0

=

0. 150

»)[1 =0 , T, =-25.98/20 ;, J,=-20. :HL
I%r tolal X
sje:ji TC::Jr N, LS
= 120 x04+ |2o[:)20 -(—fzé»‘}Q[zZDj
20 e - Lot i)
= 20+ 6 /20 4 24q4.8 [I507 VA
'C = 2357.56 [0 v»Z)

e ——

Page

Scanned with CamScanner




UPSC

Answer Questions in NOT MORE THAN lr Word Lumltspecn'ed for each in the Parenthesis.
C ntent of the Question is more important than length.
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